XTSI MO —RE CELECKIEEL,

WN=yh3a0% F1 kg s
S -NHAERDEILIZIBEHEE S

5| No. B&R1-r e BAGT RN -Y AV | A% -5
1| 1 [MP22051SS4-00 BALFHEEY—} 3804400 S4 ASSY o (EEY—b 1 1
T4k M5x14 B 10 10
s ol 2 2
MP22051MS4-01 BALFHEEY—} 4004400 S4 ASSY o (EEY—b 1 1
T4k M5x14 B 10 10
s ol 2 2
MP22051MS4-00 BALFREES=h 400%400-S4 ASSY F o |EEL=b 1 1
FhE4 M5x14 2 10 10
sE 2 2
MP22051LS4-00 BALFHEEY—} 4204400 S4 ASSY o (EEY—b 1 1
T4k M5x14 B 10 10
sl 2 2
11 2 |[MP21230-00-00 {UF—%&Y—b BAL-5F ASSY FTBS0440022 | 4 [Mur-&Y—-bLETF &1 &1
9 VIR (M5%14) 10 10
sl 2 2
1| 3 [MP21231A2S400 7775——F W400 A2S4 BAL-5 i |795=-F 1 1
1| 4 |MP23035-S4-00 L=y y R~ S4 ASSY b [Lyy i —bER &1 B EEGNIFYRA
1| 5 |[MP10040-01-00 b VT E Ry ME) M5%14 |17 Wa4k M5x14 2 1 20
MP10040-15-00 eV E Aty MER) M5%14 15 A Y Y | T VA4 M5%14 2 14
MP10040-60-00 AyE VI E Ry ME) M5%14 15K AY*4 wyb | 7T VA4 M5%14 2 60
MP10045 E Aty {EHE ) M6%16(10K) Y| T VA4 ME%16 2 10 EARDLA > f=EEIZEH
MP10043 £ Aty MAEHE B ) M6%16(1 F8) wyb | 7T VA4 M6%16 2 800
1| 6 |[MP90308 T8 ASSY tyb | TEA
TEB

FNALLYF 3mm
FNALLYF 4mm
FNALLYF 5mm

—_ = = =

—_ - = =

BAL-5-6_220222

1/16

1-F1YRF220222




XTSI MO—RE CELECKIEEL,

=50y 51 kit RS

SN NEEDEILIXIBLERERSR

5| No. [l N e B RN -Y AV | A% -5
2| 1 |MP10102 DAY T—LNA7 KV~ SHAS47" 2{@ vt ASSY | E9b |HLa '~ 2 2
NATEISSTR L M5%30 £ UCP 2 2
A7V Iyoe— ¢ 8.0%5.2%1.5 GB9I3-87 2 2
L1k M5 GB923 2 2
2] 2 [MP10154—-00-00 SLRIY)AZIH(FEA) |I9)rZ 1T 1 2|2019F2 At EE
MP10103 Y=bNA7 KA —4{E Y SHE/7® ASSY b [V—bVAT LS - 4 2| 1B 4%k
NATEISSTR IS M5%30 £ UCP 4 2
A7V Iyoe— ¢ 8.0%5.2%1.5 GB9I3-87 4 2
L1k M5 GB923 4 2
2| 3 |IMP1B010530UC1 RATFIALF I M5%30 £ UCP  |RATFIRAR I M5*30 £ UCP 1 4
MP1B010530UC2 RATEATHR IV M5%30 £ UCP 14 b [RETFIUTF I M5%30 & UCP 4
MP1B010530UC3 FNATFEIUTR IV M5%30 £ UCP 158%10 | £yb [NE 5t Lk M5%30 & UCP 40
2| 4 |IMP3B0005SAUCT A7 YT TyYe— M5 8.0%5.2%1.5 GB93-87 b 2795 90— M5 8.0%5.2%1.5 GB93-87 1 4
MP3B0005SAUC2 ATV TyYe— M5 8.0%5.2%1.5 GB93-87 14¥ | #9b (A7)0 Ivvv— M5 8.0%5.2%1.5 GB93-87 10
MP3B0005SAUC3 A7YUT Tyse— M5 8.0%5.2%1.5 GBI3-87 1485 | k|27 Tyvv— M5 8.0%5.2%1.5 GB93-87 50
2| 5 |MP4B0105FNUCI1 RFyh M5 GB923  |&+yh M5 GB923 1 4
MP4B0105FNUC2 L+yk M5 GB923 1% tyb |4y M5 GB923 10
MP4B0105FNUC3 L+9b M5 GB923 1485 tyh [&Fy+ M5 GB923 50
2] 6 (MP10012-01-01 $175t=2 IVF+vy7" OKIRERA) R I {91752 IUM+vv7” OKIREA) B 1 10
MP10012-10-01 d175t=2 IVF%vy7” OKIRER) & 107 b 91752 IUMNFv97” KIRER) B 10
MP10012-1H-01 G175t=2 IVFFv97" OKIRER)E 1007 | tyb|p175t=2 IVM4vy7” OKIREA) E 100
MP10016—01-01 $175t=3 IVF+vy7" OKIRERA)E I {91753 IUb vy OKIREA) B 1 2
MP10016-10-01 $175t=3 IVF*vy7" OKIREA) 2 107 b 91753 UM Fv97° KIRER) B 10
MP10016—1H-01 $175t=3 IVFFv97" OKIRER)E 1007 | w9k | p175t=3 IvMtvy7” OKIREA) E 100
MP10088—01-00 $22 UM Fry7" KIRER I |#E+v7 022 1 4
MP10088 b 22 IUN 47" KIRER 57 AY b [#HEF Y7 ¢ 22 5
MP10088-50—-00 $ 22 IUN 47" KIRER 57 AU*10 tyb |[BHE Y7 P 22 50
2| 7 IMP10010 SORFAEvRI-799%%v7" 25 AY b [SOB X+ RI—799%497° 2 2
MP10010-50-00 SOE F%vRA9—-79)%%y7" 500 AY b [SOR BF+R9—799%497° 50 2
2| 8 IMP10117 WA Xy G 22%115 7L=ANAT R 25 AY | tub |47 %497  22%115 7'L-AN47 2 2
2| 9 |IMP1B040640UC1 Fv97 R Wb M6%40 #26 UCP F [Fvy7' KLk M6%40 326 UCP 1 2
MP1B040640UC2 $yy7' K I M6%40 326 UCP 44 AL b |F597 Kb M6%40 F26 UCP 4
MP1B040640UC3 £y 7 K ILb M6%40 #26 UCP 448 AY*10 b |F597 K Wb M6%40 F26 UCP 40
2| 10 [IMP4B0206—NUCT1 +48v%9k M6 DIN9S2 & [+40v+9+ M6 DIN982 1 6
MP4B0206—-NUC2 F40UFyh M6 DIN982 14% tyb | 4B Fyh M6 DIN982 10
MP4B0206—-NUC3 F40UFyh M6 DIN982 14$x5 tyh | 4829k M6 DIN982 50
2| 11 IMP2B0106JWO0O01 BAETY Y v— 6.4%12.5%1.0 I |#tAgTyYv— 6.4%12.5%1.0 1 18
MP2B0106JW002 ATy v— 6.4%12.5%1.0 148 tyb [#HETy Y v— 6.4%12.5%1.0 10
MP2B0106JW003 BBy v— 6.4%12.5%1.0 158%5 b [BHEETyYv— 6.4%12.5%1.0 50

BAL-5-6_220222

2/16

1-F1YRF220222




XTSI MO—RE CELECKIEEL,

WN=yh3a0% F1 kg s
S -NHAERDEILIZIBEHEE S

5| No. [l N e BAGT RN -Y AV | A% -5
2 | 12 [MP10095S54-00 ATULAYA'YENSS5-4 108 ALY b [RFULRYA YR NSS5-4 10 18
2| 13 IMP1B040630UC1 Fvy7° Kb M6%30 F UCP  |%v97° Kbk M6%30 ¥ UCP 1 4
MP1B040630UC2 Fvy7' Kb M6%30 F UCP 14 b [F497° K Wk M6%30 F UCP 4
MP1B040630UC3 Foy7' Kb M6%30 3 UCP 148%10 b [F497" K W E M6%30 3 UCP 40
2| 14 IMP2B0006WAUCT Tyye— M6 6.2%12.8%1.0 1799 %— M6 6.2%12.8%1.0 1 12
MP2B0006WAUC2 FEJydr— M6 6.2%12.8%1.0 148 b [FT9v— M6 6.2%12.8%1.0 10
MP2B0006WAUGC3 FEJydr— M6 6.2%12.8%1.0 14845 Tyh | FETyvr— M6 6.2%12.8%1.0 50
2| 15 IMP11300—-BR-01 HWFEAUNIVASSY & BJJ00011-4PSAS VNV TV A 1 11201925 HHZLTHE YavkbinT
ATULAYAyE NSS5-4 10 afyNyb-—rEERAONRRITMINARBECRYET
MP11300-BL-01 HFEAVNILASSY ZE BJJ00011-4PSAS VNV Y A 1 1
ATULAYAyh NSS5-4 10 4
MP11300—-BR-00 HENUMILASSY 5 BJJO0011-AS VLV TV X 1 1{uAyh-o-MEERDNREIFTMIABECREYET
ATULAYAyE NSS5-4 10 5
BE5 7 1 1|RIEERIZEYET,
T A4 M5%14 2 1 1
MP11300-BL-00 FFEAVNIVASSY £ BJJ00011-AS o nob 47 1 1
ATULAYAyE NSS5-4 10 5
BE5 7 1 1
T4k M5x14 BB 1 1
2| 16 IMP11324 IVK R y7" B AR $H(24) b |$REH)y 7 2 2
T Iha4h M5%14 B 2 2
2| 17 |MP10040—01-00 b VT E Ry ME) M5%14 |17 Wa4k M5x14 2 1 2
MP10040-15-00 AyE VT E Aty MER) M5%14 15K A Y Y | T VA4 M5%14 2 14
MP10040-60—-00 AyE VI E Ry ME) M5%14 15K AY*4 o | 7T VA4 M5%14 2 60
2| 18 (MP11208—-0R-00 BHELFNY MU A o |1SEEINYIMUR 1 1IN EERDOREFTIMIABEIZREYET,
ATULRYA YR NSS5-4 10 9120192 A 1HHLE R
AU E A M5%12 3 0
YIMUNRY-I 1 1
MP11208—-0L-00 BHELEFNY M & b |SEEINY I 1 1
ATULAYAyE NSS5-4 10 9
AyEVIE A M5%12 3 0
Y IMUNRY-I 1 1
2 MP11212-01-00 SN MUMNET LT YY1~ —H— 134k TL7 9Y1A8 —H— 1 2|4 BE RN MU
MP11212-10-00 BN IMUMNAT AT Y 1A —H— 105 AY| ok [V 3(uk TLT Y2~ —H— 10

BAL-5-6_220222

3/16

1-F1YRF220222




XTSI MO—RE CELECKIEEL,

=50y 51 kit RS

SN NEEDEILIXIBLERERSR

5| No. o m e N e BAGT RN Y AV | A% &=
MP11171-0R-01 MN=EEET NIV IMUMAFK) B ASSY F |BE&Fhy3MUR 1 1A YMEERDINBEFIMINBEIZHEYET,
ATULAYAyE NSS5-4 10 10
ATULAYA YR NSS5-6 10 0
AU E R 5%12 5 0
A"V R 5%14 5 0
MP11171-0L—-01 MN—EEET VI IMUMAFR)  ASSY b |EBEBEHINY3MUR 1 1
ATULAYAyE NSS5-4 10 10
ATULAYA Y NSS5-6 10 0
AU R 5%12 5 0
AtV A 5%14 5 0
MP11171-LR-01 MN-SEETVIV IMUMAIR) 1845 ASSY | tyb [BEEHNAY MU 1 1
BEBHHNIMUIR 1 1
ATULAYAyE NSS5-4 20 20
ATULAYA YR NSS5-6 20 0
AU E R 5%12 10 0
A"V A 5%14 10 0
MP11174-01-00 YIUub LT 9V AN - -Fi#t s 1 quh LT 9Ya AN —H— 1 AN Ve
MP11174 VMU TLT Y1 AN Y-S 107 Eyh Tyh |V MUk TLT Y2 AN - — 10
MP11172 Y I{UMER &R SHY 3/ U = 25 ALY b |SHY 3{ U - 2 2|85 8L UM FR AR A]
2| 19 (MP60039—-0R-01 BALVAVT R4 LT L-% & F 175 1 1|BAL-5
715"y 1 1201928 4L E
899 W7 V=% AN =4 — 1 1
AR M6%30 318 UCP 2 2
EJyYe— M6 6.2%12.8%1.0 2 2
A7V Iy e— M6 6.2%12%1.5 2 2
FNFAFyM61=40 GB6170 2 2
MP60039—-0L—-01 BALVAVT R4 LT L% & F17v-% & 1 1
TU=%7y7 1 1
BTNT VAN Y- 1 1
AR M6%30 318 UCP 2 2
EJyYe— M6 6.2%12.8%1.0 2 2
A7V Iye— M6 6.2%12%1.5 2 2
FNFA+yM61=40 GB6170 2 2

BAL-5-6_220222

4/16

1-FYAP220222




XTSI MO—RE CELECKIEEL,

=50y 51 kit RS

SN NEEDEILIXIBLERERSR

5| No. [l N e BAGT RN -Y AV | A% -5
2| 19 IMP60039—-1R-01 BAL-4 91V I V7% & F|17L-3%%5 1 1|BAL-6
7157 1 120192 A LR
ARV M6%20 £ UCP 2 2
EDJyYe— M6 6.5%16%2.5 2 2
EDyYe— M6 6.2%12.8%1.0 2 2
A7V Iy e— M6 6.2%12%1.5 2 2
FFAFyM61=40 GB6170 2 2
MP60039-1L-01 BAL-4 91V I NI L% & F|17v-% & 1 1
7V=%5"y7 1 1
ARV M6%20 £ UCP 2 2
EDJyYe— M6 6.5%16%2.5 2 2
EJyYe— M6 6.2%12.8%1.0 2 2
A7V Iy e— M6 6.2%12%15 2 2
FNFA+yM61=40 GB6170 2 2
2| 20 (MP60902 S99 W7 L—%)7 (824 1yh b |17 2 2
2 21 |[MP60010-01-00 499" L7 V=% A~ =% —No.1 5490 V7 L—% AN =4 — 1 2
2 MP2B0006WDUCH1 FEJyYr— M6 6.5%16%2.5  |ETyYe— M6 6.5%16%2.5 1 4|BAL-6
MP2B0006WDUC2 EJyYr— M6 6.5%16%2.5 148 b [FET9Vv— M6 6.5%16%2.5 10
MP2B0006WDUC3 EJyYr— M6 6.5%16%2.5 1485 tyb | TET9v— M6 6.5%16%2.5 50
2| 22 IMP1B000630UC1 FNAR IV M6%30 #18 UCP |1RAKR IV M6%30 318 UCP 1 4(BAL-5 #Frit#k
MP1B000630UC2 FNAR I M6%30 $18 UCP 14 Ty AR IV M6%30 $£18 UCP 4
MP1B000630UC3 FNAR IV M6%30 318 UCP 104 Y |FNER IV M6%30 18 UCP 10
2| 22 IMP1B020620UC1 ARV M6%x20 £ UCP 5 RAEE IV M6%x20 £ UCP 1 4|BAL-6 itk
MP1B020620UC2 AR I M6%x20 € UCP 148 Ty |FRAER IV M6%20 £ UCP 4
MP1B020620UC3 FNAR I M6%20 £ UCP 128%10 tyb [7NFAR Vb M6%20 £ UCP 40
2| 23 (MP3B0006SAUCT A7VUI Ty e— M6 6.2%12%1.5 RS Ty e— M6 6.2%12%1.5 1 4
MP3B0006SAUC2 A7VUT Tye— M6 6.2%12%1.5 14% b [R7V05 90— M6 6.2%12%1.5 10
MP3B0006SAUC3 A7V Iyv— M6 6.2%12%1.5 15845 b [R7)09 790 %— M6 6.2%12%1.5 50

BAL-5-6_220222

5/16

1-F1YRF220222




XTSI MO—RE CELECKIEEL,

 N=YhAnY B RS
S -NoAEE D)L I IB I

5| No. [l N e B RN -Y AV | A% -5
2 | 24 IMP4B0006NAUCT 7<fAFyh M6 1240 GB6170 F |7RfATyMM61=40 GB6170 1 4

MP4B0006NAUC2 NFTyh M6 1290 GB6170 148 k[ FETyM61240 GB6170 10

MP4B0006NAUC3 FNFTyh M6 1290 GB6170 548 bk |AAFETyIM61240 GB6170 50

MP60242-00-01 SRS VT U—% D AN —H#—{FNo.1 7 ASSY | & |KT7L—% 915 B R 1=Ensts
7157 MEYI-{EH5R
FNAR I M6%40 #25 UCP
499 NI V=% AN =4 — AN—H—[ZDINT
EDyYe— M6 6.2%12.8%1.0 BEDHEIETV-FAT-D5 Iz, MBIDFZE(E
A7VUI Ty e— M6 6.2%12%1.5 RENZERY 4 F TS,
7<fA+yh M61=40 GB6170

MP60243—-00-01 SLIRBYT W U—% D AA—%—No 14 £ ASSY | # [KT7L-% v B L

7357

FNAR L M6%40 ¥25 UCP
899 W7 V=% AN =4 —
EJyYe— M6 6.2%12.8%1.0
A7 VUH TyYe— M6 6.2%12%1.5
7<fAT+yh M61-40 GB6170

MP60241-00-01

LRSS VT L—% D AN —H—No.1{F 154 ASSY

tyb

KT7'L—% 94U A L
KT7'L—-% 94U A R
7357

FNAR L M6%40 ¥25 UCP
899 W7 V=% AN =4 —
EJyYe— M6 6.2%12.8%1.0
A7VUH TyYe— M6 6.2%12%1.5
7<fA+yh M61-40 GB6170

—_

—_

B4R
MEYY—{EHA
AN —H—|ZDINT

BEDGE T V-FAT-D5MEIC, MBIDB A
RARIZERY 43 TSREELY,

Bl BN BEADN = =ZINDNDNOOOD=DNN—= NN NN —

HI=IBD BN DNDEN==INDNNOOD=DNN=NND—=NNN—=

MP1B000640UC1 FNAR IV M6%40 #25 UCP b |7XAEN Vb M6%403425UCP

MP1B000640UC2 FNAR IS M6%40 #:25 UCP 14 b |7NER W M6%40425UCP

MP1B000640UC3 FNAR I M6%40 #25 UCP 158%10 b [7RER L M6x403F-25UCP 40
MP2B0006WAUCT TJye— M6 6.2%12.8%1.0 I |ETyY%— M6 6.2%12.8%1.0 1 12
MP2B0006WAUG2 FEJydr— M6 6.2%12.8%1.0 148 bk [FT9v— M6 6.2%12.8%1.0 10
MP2B0006WAUGC3 FEJydr— M6 6.2%12.8%1.0 14845 Ty | FETyvr— M6 6.2%12.8%1.0 50
MP3B0006SAUCT A7V I9e— M6 6.2%12%1.5 RS 9% — M6 6.2%12%1.5 1 4
MP3B0006SAUC2 A7VUT Tyve— M6 6.2%12%1.5 14% b [R7V05 Ty Y0~ M6 6.2%12%1.5 10
MP3B0006SAUC3 A7V Iye— M6 6.2%12%1.5 15845 b [R7)09 790 %— M6 6.2%12%1.5 50
MP4B0006NAUCT1 7<fAFyh M6 1240 GB6170 K |7<f+yh M61240 GB6170 1 4
MP4B0006NAUC2 F<ATyh M6 1290 GB6170 148 Yk |7NE Ty M621240 GB6170 10
MP4B0006NAUC3 7NA7Tyh M6 1290 GB6170 158%5 Yk |7NE Ty M621240 GB6170 50

BAL-5-6_220222

6/16

1-FYAP220222




XTSI MO—RE CELECKIEEL,

WN=yh3a0% F1 kg s
S -NHAERDEILIZIBEHEE S

|

No.

Bami—F

Gk

Bifip

RN Y

AV

R

&%

25

MP40121R17-00

FM3L7L—%SH 0° 4 630%810 ASSY

FIL7 L% BRI A IEOE)
7'L—%Lin"— CAR220

J4%— 630%810

MY —%vv7’

RE Sy

SRy -N AN

447v7° B SG-150

MP40121L17-00

FM3L7L—%SH 0° Z 630%810 ASSY

FNIL7 L% BRI A IEOE)
7'L—%Lin"— CAR220

J4%— 630%810

MY —%vv7’

IAx=h4r

SRy -N AN

447v7° B SG-150

BAL-5

MP40121R09-00

FM3L7L—%SH 0° 4 690%870 ASSY

FIL7 L% BRI A IEOE)
7'L—%Lin"— CAR220

J4%— 690%870

MY —%v97’

Ry

SRy DA

447v7° B SG-150

MP40121L09-00

FM3L7L—%SH 0° Z 690%870 ASSY

FNIL7 L% BRI A IEOE)
7'L—%Lin"— CAR220

J4%— 690%870

MY —%vv7’

IA=h4

SRy -N AN

447v7° B SG-150

BAL-6
Fit4EIEBAL-5/6&H 12+ A

26

MP40180R00-00

FILTL-FRADH B 0E

Y

MILT L -FEERIE R EE(OE)

MP40180L00-00

FILT L3R ADH K OFE

MILT L-FEERE R EEOE)

27

MP11600—-0R-00

LN=K & (FfFHF+8) ASSY

I

7L —-AK{Ek R
M5X2077°Eybk L B
73 -EESE
M5XLW @9 xt1.0 2
M5Fyh 2

MP11600-0L—00

LN=K & (F{FHF+8) ASSY

AV N7
M5X2077°Eybk L B
TN -BEELE
M5FLW @9 xt1.0 2

RO QU G U (SIS IO IR PG Q) (PO |G | PO QU G G T GO O (PG GO U GO G T O UGS UOR |PEPONS QU G O G QO (RO PG U G G GGy

[ T T N Fe T = B = R GO e T o T o S GGG [P S T o Y S G G I S o T o J GG

EADOEEIEUN -THITEARRK
RIEH/IZHYET,

BAL-5-6_220222

7/16

1-FYAP220222




XTSI MO—RE CELECKIEEL,

WN=yh3a0% F1 kg s
S -NHAERDEILIZIBEHEE S

5| No. [l N e BAGT RN -Y AV | A% -5
M5Fyh B 1 1
2| 28 |IMP40126—17 74%— L630*810 fr [74%— 630%810 1 2|BAL-5
4 —%+y7 1 2
MP40126—09 74¥— L690*870  |74%— 690%870 1 2|BAL-6
MY —Fry7’ 1 2|$ it #RIEBAL-5/6&L4 (A
2 | 29 |MP40140—00-00 DA% =397 #yb 200 AY b [T4 %497 20 2
2 | 30 |IMP13119-00-01 AV TINEAA =R (ZITEBE—)ASSY| & |SW7'AyIA ASSY 1 2|120192 A HHRETE
AU TN OYYB 1 2
K aU%ey7 KV MEx12 £ UCP 4 8
FA'2Y" M6%45 UCP 1 2
A7 VUH TyYe— M6 6.2%12%1.5 1 2
£+9h M6 GB923 1 2
2| 31 IMP1B050612UC1 H40%%97 Kb M6%12 £ UCP | 4u%v97 Kb M6%12 & UCP 1 8|2019F2 At LT H
MP1B050612UC2 R 9097 Kb M6%12 & UCP 148 b [K 4% 097 R I M6%12 £ UCP 4
MP1B050612UC3 Fav%ey 7K I M6%12 £ UCP 148%10 b [K 4% 997 R L M6%12 £ UCP 40
2| 32 IMP1B050645UC1 H40%%97 K Wb M6%45 £ UCP | 4v%v97° Kb M6%45 & UCP 1 220192 At E
MP1B050645UC2 K 9097 K Vb M6%45 & UCP 148 b [K 4% 097 R L M6%45 £ UCP 4
MP1B050645UC3 Fa0%ey 7K b M6%45 £ UCP 148%10 b [K 4% 997 R L M6%45 £ UCP 40
2 | 33 [MP3B0006SAUCT A7 VT Tyv— M6 6.2%12%1.5 ATV Tyve— M6 6.2%12%1.5 1 2(2019F 2Bt H
MP3B0006SAUC2 A7VUT TyYe— M6 6.2%12%1.5 143 b [R7V05 T9Y%— M6 6.2%12%1.5 10
MP3B0006SAUC3 A7V Iye— M6 6.2%12%1.5 15845 b [R7)09 7904 — M6 6.2%12%1.5 50
2 | 34 IMP4B0106FNUCT1 RFyh M6 GB923 |5+ M6 GB923 1 2|2019F 2 Bt EE
MP4B0106FNUC2 L+yh M6 GB923 1% b | %+ M6 GB923 10
MP4B0106FNUC3 L+9h M6 GB923 1485 b [&Fy+ M6 GB923 50
2| 35 |MP13127-A0-00 N =R847° A4V TINERE R YREVA ASSY b A4V TIMER VA 1 220192 At H
2| 36 |MP13127-B0-00 N =R847° A4V TIEE R YAEVB ASSY b A4 TINER VB 1 220192 At H
MP13128 799K AT TOMAE R WM Y 107 AY ASSY | b [ERwbE™Y 10 4
FEJyYe 10%5.2%1.0 M5 GB97-85 20 8
ATV Iyv% @ 8.0%5.2%1.5 GB93-87 10 4
£%+9h M5 GB923 10 4
MP13128—-01-00 799K AU TOMAE R Y Y ASSY b [ER Y 1 4
EJyYe 10%5.2%1.0 M5 GB97-85 2 8
ATV Ivv% @ 8.0%5.2%1.5 GBI3-87 1 4
£+9h M5 GB923 1 4
MP10013 BRE+vy7 @ 135t-1 2 HE 55 AL tyb |BHHE Y7 p 13.5t-1 B A E 5 4
MP10013-50-00 #RE+vy7 ¢ 135t-1 B HE 507 AL tyb |[BHEFvy7 p 13.5t-1 B AE 5 4

BAL-5-6_220222

8/16

1-F1YRF220222




XTSI MO—RE CELECKIEEL,

 N=YhAnY B RS
S -NoAEE D)L I IB I

|

No.

Bami—F

Gk

BfL

BN -Y

"%

MP13204-RR-00

Ly i —b7L—LASSY A No.115

Loy 4’ —bIb—L4

MP13204-RL-00

Lyy i’ —b7L—LASSY Z No.115

Loy 4R’ —bIL—4

5 AINo.115
2019525 LR

MP13116

A4V 7997 b—b LEELN -

SW7997°L—}
L =97’

201952 A AL E

MP13112

L=FELN =5y 7" 25 AY

tyb

bn=9"y7"

MP13118

ATV R —+)4—y 29 b

tyb

A7V RS — MAx10 & UCP
SW J4—-vA7 vy

20192 A HHREE

MP10016—-01-01

®175t=3 IVNFvy7" OKRER)E

$175t=3 IVNFvy7" KIRER) B

MP10016-10-01

G 175t=3 IVNFvy7" OKIRER)E 107

tyb

$175t=3 IVNFvy7" KIRER) B

MP10016-1H-01

G175 t=3 IVNFvy7" OKIRER)E 1007

tyb

b1751t=3 IVNFvy7" KIRER) B

MP10071-01-00

79b 97 FE $17.5 t=2mmFH

Tybr97° ($17.5 T=2)

MP10071

7yh vy 7 B ¢ 17.5 t=2mmA 107 AY

tyb

79 497° (P 17.5 T=2 10{8/5—R)

MP70182

BEtNL-MyME -t B B ¢175 H ASSY

79V AR L—PWSWEE W=400R
T9MVAPAA =Y - 1758
ATYT AN —H— ¢ 175H
$vy7 K b M6%65 4 DIN912
F40U+9h M6 DIN982

ATYYT T9Yr 6.2%12%1.5
EJyYv 10%6.5%1.0UCP

MP70183

BEtNL-MyME -t B B ¢175 £ ASSY

79V AN L—PWSWEE W=400L
T9MVARAA =Y - 175 B
ATYT AN —H— ¢ 175H
Fvy7 K b M6%65 4 DIN912
F40UF9h M6 DIN982

ATYYT T9vr 6.2%12%1.5
EJyYv 10%6.5%1.0UCP

MP70181

BEtNU-I79ME - B B ¢17.5 18459 ASSY

tyb

79V AN L—-PWSWEE W=400L
79U AR L—FWSWEE W=400R
ATYT AN —H— ¢ 175H
T9MVARAA Y- 175 B
Fvy7 K b M6%65 - DIN912
F40UF9h M6 DIN982

ATVYYT T9Yr 6.2%12%1.5
EJyYv 10%6.5%1.0UCP

201952 A HHREE

MP70008-00—00

ATV AN—Y¥— 175 24 A

tyb

ATy7 AN —Y%— 1755

20192 A AR EE

MP1B040665UC1

X497 K Wb M6%65 3 UCP

Xpy7 K Wb M6%65 3 UCP

MP1B040665UC2

Fy97° Kb M6%65 2 UCP 14

tyb

¥vy7 K b M6%65 3 UCP

BN A RO NN AN 2 SN = a2 NN === N

MP1B040665UC3

Fry7 Kb M6*%65 3 UCP 12810

tyb

¥vy7 K b M6%65 3 UCP

S
o

BAL-5-6_220222

9/16

1-F1YRF220222




XTSI MO—RE CELECKIEEL,

 N=YhAnY B RS
S -NoAEE D)L I IB I

5| No. [l N e B RN -Y AV | A% -5
3| 10 (MP3B0006SAUCT A7VUI TyYe— M6 6.2%12%1.5 i |R7YYI Ty e— M6 6.2%12%1.5 1 2
MP3B0006SAUC2 A7VUT TyYe— M6 6.2%12%1.5 14% b [R7V05 T9Y0— M6 6.2%12%1.5 10
MP3B0006SAUC3 A7V Iye— M6 6.2%12%1.5 15845 b [R7)09 790 %— M6 6.2%12%1.5 50
3| 11 IMP2B0006WEUCT Tye— M6 10%6.5%1.0 UCP b |FE79% M6 10%6.5%1.0 UCP 1 4
MP2B0006WEUC2 EJyie— M6 10%6.5%1.0 UCP 148 Yk | FETyr M6 10%6.5%1.0 UCP 10
MP2B0006WEUC3 EJyYr— M6 10%6.5%1.0 UCP 148%5 yh | FET9% M6 10%6.5%1.0 UCP 50
3| 12 IMP4B0206—NUCH1 F40uFyh M6 DIN982 & |F40uF9h M6 DIN982 1 2
MP4B0206—-NUC2 F40UFyh M6 DIN982 14% tyb|F4AYFy+ M6 DIN982 10
MP4B0206—-NUC3 F40UFyh M6 DIN982 14¥x5 b | 4829k M6 DIN982 50
MP13205-FR-00 Ly i —bIL—LASSY & BJH40021R-AS by ok —baL-4 1 1
MP13205—-FL—-00 Ly i —b7L—LASSY ZE BJH40021L-AS oLy 4k —baL=4 1 HEY)
MP10116—0R-00 799K AT TIMEBRASSY B o |ayshn-R 1 1
AysLn—R 1 1RIFHERIZAEYES,
ayyRY-=7" 1 1
LIN=9"y7’ 1 1
K aU%497 K Wb M5x25 1 1
BEZ& Tyt M5 1 1
BTy vy M6 12.5%6.4%1.0 1 1
a-vA7V9R 1 1
K 4% vy 7K Wk M6%25 GB7380 1 1
BEZ& Ty M6 1 1
MP10116—0L—-00 799K AU TIMEBRASSY &£ o |ayshn-L 1 1
Ayl —L 1 1
ayyRY-=7" 1 1
LIN="y7’ 1 1
K 405497 K Wb M5x25 1 1
BE% Tyt M5 1 1
BTy vy M6 12.5%6.4%1.0 1 1
Na=-vR7)UL 1 1
K 4U%vy 7K Wk M6%25 GB7380 1 1
BEZ& Ty M6 1 1
MP13112 LFLN =797 250 AY) b [Liv=91y7° 2 2
MP70122 ZEN VMM - B K & ASSY F |&AF=XATY7L 2 R WCP-FRT-ASL-001R 1 1
MP70123 ZEIN VMM - B K E ASSY F |&FAFXATY7L & L WCP-FRT-ASL-001L 1 1
MP70121 BEINV-IMI9MF - B K 155 ASSY tyb [H°AFEKRTFY7L 2 L WCP-FRT-ASL-001L 1 1
" AFKATY7L 2 R WCP-FRT-ASL-001R 1 1
MP70010 TUh—K LM (Blo5RYK ) I |7oh=F 1L 1 2
ATY7 Y~ 1 2
BAL-5-6_220222 10/16 1-F1YRF220222




XTSI MO—RE CELECKIEEL,

=50y 51 kit RS

SN NEEDEILIXIBLERERSR

58| No. [l N e B RN -Y AVE | R -5
MP70006—01-00 Tuh—HyMIR) 25 AV (ZVIELR) tyb | 7Uh—ToMM 2 2
MP70022 IyMR - RiRF Y7 B SHAMT 25 AY b [AT97 %4971 2 2
JA'yb NSA4-2 2 2
MP79000—00-00 FyhriR - stg 707 R AMIFVT 1 2
FNAR IV M5%20 1 2
+48UFyk M5t6 1 2
MP10071-01-00 79bry 7 3B ¢ 17.5 t=2mmfA o (79b5497° (0175 T=2) 1 4
MP10071 79h5v97 IR 175 t=2mmA 107 AY b [79h 097 (P 175 T=2 10{8/5-R) 10

BAL-5-6_220222

11/16

1-F1YRF220222




XTSI MO—RE CELECKIEEL,

=50y 51 kit RS

SN NEEDEILIXIBLERERSR

s%( No.

Bami—F

Gk

BfL

BN -Y

AV

R

"%

MP52213

67Y7M 74309 E 1L AZASSY (SH)

BB KPUFrRS— 604US3(MJIC-ASY-PU61)

MP52215-01-01

6Y7h74—30%" 3¥+v7FPACK WST-UV-PU61

WST-UV-PU61

No.1 BOLT&NUT
No.2 BOLT&NUT
No.3 BOLT&NUT

MP52252-03-00

$v2% Yv7Myk No.3 K+74—30% F ASSY

No.3 BOLT&NUT

[AER] M6 L=70 &' JLk
M6%E Ty

D6 FEJyir—

D6 A7) Tyr—

7'y¥1 CST-MTC-SPC-003

MPP00067

$vA4— $K'—p7n—-ASSY

ty

-

FrA8-EfTHobT
FrRI— YR =7 -
HEE &R Ty 4—(N)
BEEEHTy Y r—(K)

N O BADNIN =N 2 A gl a4 o af=

N OB DNIEN B NN DNIN OODNIN

BAL-5-6_220222

12/16

1-F1YRF220222




=50y 51 kit RS

AR LSO —FE ISR, DN E RO EILIFIBERER SR
5| No. [l N e B RN -Y AV | A% -5
5| 1 |MP30500—KR-01 7-L¥&'—FIL—LASSY F BJZ01177R  |7-LUAFASSY Rty 1 112019528 1L F
MP30500—KL-01 7-L¥&'—FIL—-LASSY £ BJZ01177L i |7-LUARASSY Ltyh 1 1
MP30500—-KR-00 7-LYK—FIL—-LASSY & BJZ00743R & |7-LUAFASSY REYh 1 1] 1844
K 4U%vy 7K Vb M8x45 £ UCP 1 1
ETyve— M8 2 2
BER Tyt M8 1 1
MP30500—-KL-00 7-LY#k—FIL—-LASSY ZE BJZ00743L  |7-LUAFASSY Ltyh 1 1
K aU%vy7 K Vb M8x45 F UCP 1 1
ETyve— M8 2 2
g% Ty M8 1 1
5] 2 (MP10101 7-LULARAYY 27 AL ASSY b [7-LLAMDYY 25 AY 2 2
K 4% 497K Wk M5%30 GB7380 2 2
BEL&TyIM5 2 2
5] 3 [MP10100 VAU T-LVANIFY 25 AY) ASSY b |[7-L777 28 AY 2 2
K 4% vy 77K Wk M5%30 GB7380 2 2
BEL&TyIM5 2 2
5| 4 |MP10024—00-00 7=LIL—LY 3 Pack  |7=L7V=LY 34Uk 1 2
ATULAYAyF (NSS5-4) 2 4
5| 5 IMP1B060845UC1 H4u%v9 7K b M8*45 F UCP I |E 405497 K IVE M8x45 - UCP 1 220192 A LT H
MP1B060845UC2 R 9097 K Vb M8*45 3 UCP 148 b [K 4% 097 R I M8*45 H UCP 4
MP1B060845UC3 R4y KLk M8%45 2 UCP 148%10 b | R 4uF vy 7 Kb M8*45 F UCP 40
5| 6 |MP2B0008WBUCT1 Ty e— M8 8.6%17.6%1.5 1Ty Y%— M8 8.6%17.6%1.5 1 4
MP2B0008WBUC2 EJyYr— M8 8.6%17.6%1.5 148 bk [Ty 49— M8 8.6%17.6%1.5 10
MP2B0008WBUGC3 TEyyv— M8 8.6%17.6%1.5 158%5 bk [Ty v— M8 8.6%17.6%1.5 50
5( 7 |[MP4B0408JNUC1 BRES Ty M8  |#tig% bt M8 1 2
MP4B0408JNUC2 BAES Ty M8 148 b (BRSS9 M8 10
MP4B0408JNUC3 BHEL T M8 148%5 b | S Ty M8 50
5] 8 [MP10105—-06—-00 T—hUARRFANHN6 Ul L2 K 1 2
MP10105-04-00 T—hLAPRFAN (M4 | 7=LLANRFAN 44 1 2| 1B 4t#k
IJa’yb NSA5-3B 1 2
5| 9 |IMP1B120504DUC Hi—A—tyh M5%4 £ UCP 7Av) b |h—B—tyk M5%4 £S5 UCP 7099 1 2
5] 10 [MP10089 d19 IUMF4v7" KiRZER 55 AY b @19 TUNF497" KIRER 1 2
MP10089—-01-00 d19 UM $vv7" KIRER I 19 I 497" KikEH 1
MP10089-50-00 $19 IUNF4y7" KIRER 57 AU*10 b 19 IUN$v97° KIREFB 10
5] 11 [MP10159—-00-00 T-LAESHHEE R7AN VAT %497 R4 NA7 497 1 2
MP10106 T—hLAFAFAN 3497 24 19b b [F-AVARRT N F497° 2 2| 1844
Ja'yb NSA4-2 2 2
BAL-5-6_220222 13/16 1-F1YRF220222




XTSI MO—RE CELECKIEEL,

WN=yh3a0% F1 kg s
S -NHAERDEILIZIBEHEE S

58| No. [l N e B RN -Y AV | A% -5
5] 12 (MP10012-01-01 $175t=2 IVF+vy7" OKIRERA) R I {91752 UM vy OKIREA) B 1 4
MP10012-10-01 ®175t=2 IVN%v97° OKIRER) E 107 b P 1752 UM Fv97” KIRER) B 10
MP10012-1H-01 G175t=2 IVFFv97" OKIRER)E 1007 | w9k |p175t=2 IVM4vy7” OKIREA) E 100
5] 13 [IMP30108 ILAVT-LiiK bR L=330 ASSY  |9Lavy7—LUAF L=330 A2-1 1 2
K 4% vy 7 K WFSWAT M5%28 £ UCP 2 4
5] 14 (MP30018-01-00 H A% ey 7 K VFSWAT M5*28 2 K 40%vy7 R WLESWAT M5+28 2 1 4
MP30018—-04-00 R av%ey7 K WPSWET M5+28 8 148 b R 05wy 7K WESWAT M5%28 2 4
MP30018—40—-00 F 405097 K IWESWAT M5x28 R 158x10 b R 903wy 7K W ESWAE M5%28 2 40
5| 15 ([MP30434-01-03 BALYAN I =N 94V FIL-LFA & Ay Fo AV AN -FR 1 11201928 1L F
A"y b 5 4 RIEHRIZHEYET,
BALY—JL 1 1
Y=l AR EE 1 1
100kgffit T & V-1 1 1
MP30435-01-03 BALY AN —F 94Y9 FIL—LE & YAy o910 By -FL 1 1
A"y b 5 4
MiKi&—)b 1 1
MP30434—-01-02 BALYAMNI'—F 9109 FIL-LF & ASSY by AP -MR 1 1] 1844
M4.549E VT 2" Ty ED 5 4
BALY—JL 1 1
Y=l AR EE 1 1
100kgffit T & V-1 1 1
MP30435—01-02 BALYANI'=F 9109 FIL-LF & ASSY b4y By =L 1 1
M4.549E VT 2" Ty ED 5 4
MiKi&—)b 1 1
MP10039 M4.589E" V92" Tor B 150tk tyb IMASAYE VT 2V TuveE L 150 tyh 15 8
MP10125-10-00 M4 54E{E AL VI E' A M5%13 107 AL tyh 10 YAV =BT B B RDS R DS of= &= IR,
5] 16 |MP38002 t—774094 Ya—hE"Y 29.5mm ATULASL i |t=774—Ay)ASSY 1 2
5| 17 IMP38001A t=7740yy AEyILN -0-E V1T Ry - 1 2
O-JbE"Y ¢ 2.5%20 SUS 1 2

BAL-5-6_220222

14/16

1-F1YRF220222




XTSI MO—RE CELECKIEEL,

WN=yh3a0% F1 kg s
S -NHAERDEILIZIBEHEE S

58| No. [l N e B RN -Y AVE | R -5
6| 1 IMP40041B00-01 22PUBKTDP V7L E#H—=X (BPU,. 7'7/Y) | & |22PUBKTDP 1 2|2019F 2 At EE
BTy - 1 2|BAL-5
EHHASW 1 2
EHEiyb 1 2
MP40041-00-01 22PUTDP M7 LAFEEH— (MK, 771Y) K |22PUTDP 1 2| 1B 4t#%
BTy - 1 2|BAL-5F
EHHASW 1 2
EHEiyb 1 2
6| 2 |MP5B011/2WA-1 HEEER Tyvr— | BTy - 1 2
MP5B011/2WA-2 HEEER Tyor— 18 b | BTy v 10
MP5B011/2WA-3 BHEEER Tyvr— 15845 b BTy Y- 50
6 [ 3 IMP5B001/2SW-1 BHEEFER 2700 -  |EEASW 1 2
MP5B001/2SW-2 BHHETER 27V Ivve— 1% tybh |EEFSW 10
MP5B001/2SW-3 BHEETER 2707 Tyvv— 15845 tyb |EEEFSW 50
6 4 IMP5B021/2NA-1 HEEER Fob I |EEryb 1 2
MP5B021/2NA-2 HEE TR fob 1% b | EE b 10
MP5B021/2NA-3 BHEEER Fyb 15845 oyl | BB b 50
7| 1 |MP40017B00-01 16PUBKTD 7L E#H—= (RPU) & |16PUBKTD 1 2120192 A HHRERE
BTy - 1 2|BAL-6
EHHASW 1 2
EHEiyh 1 2
MP40017-00-01 16PUTD M7 LB — (MK1)7-) & [16PUTD 1 2| 1B 4%k
BTy - 1 2|BAL-6F
EHHASW 1 2
EHEiyb 1 2
7| 2 [MP5B011/2WA-1 HEEER Tyvr— | BTy - 1 2
MP5B011/2WA-2 HEEER Tvor— 18 tyb | BTy v 10
MP5B011/2WA-3 HEEER Tyvr— 15845 b BTy Y- 50
7| 3 |MP5B001/2SW-1 BHEEER 2700 - f |EEASW 1 2
MP5B001/2SW-2 BHHETER 2707 Tvve— 1% tybh |EEFASW 10
MP5B001/2SW-3 BHEETER 2707 Tyvv— 15845 tybh |EEEFSW 50
7| 4 |MP5B021/2NA-1 HEEER Fob o |EEryb 1 2
MP5B021/2NA-2 HEE TR fob 1% b | EE b 10
MP5B021/2NA-3 BHEEER Fyb 15845 oyl | BTy b 50
BAL-5-6_220222 15/16 1-FYAP220222




XTSI MO—RE CELECKIEEL,

WN=yh3a0% F1 kg s
S -NHAERDEILIZIBEHEE S

5| No. [l N e BAGT RN -Y AV | A% -5
8| 1 IMP11771-05—-00 MiKi BALY—)l 1tyh=5# tyb [MiKi BALY—)L 5 2
8| 2 IMP11730 100kgffit fer Y-l 104K tybh [ 100ket FFE V-1 10 1
8| 3 |MP11731 VIMUNEEY-I 1E9b=18%% b |V IRV 18 1
8] 4 [MP11711-PC-00 A TE Y- 10%#EY(GZ03504) b [V-l AR EE 10 11202188 KYFIYEZ
MPH71t AR FE Y= b= fyb | =l HAEEE 10 1
5 |[MP11736 BH#Y-ILR &5 GZ00738 BAL-5 wyb |- &5 &1
8] 6 [MP11700 D4V EEAY 5k k(49 5 1
RNV 5 1
8 MP11733 FYAPEEAEIE Y- 108K b |V-I B E 10 2
BAL-5-6_220222 16/16 1-F1YRF220222




